BELL SYSTEM PRACTICES
AT&TCo Standard

SECTION 503-200-113
Issue 2, October 1977

D-180574 TELEPHONE SET

1. GENERAL

1.01  This section contains identification, installation,

maintenance, and connection information for
the D-180574 coin decorator telephone set (Fig. 1
and 2).

1.02 This section is reissued to:

e Add information on 220-type, 223-type,
230G, 233G, and 234G sets

e Add information on 685A subscriber set

e Add information on 623P4 jack and D4BU
mounting cord

e Add information on new wododen bases which
are available for mounting telephone set on
a horizontal surface.

2. IDENTIFICATION
Design Features

2.01 ®The D-180574 telephone set is a modified
220-type, 223-type, 230G, 233G, 234G, or
236C coin collector. The modification, which is
performed at the service center, removes coin
handling and security features, converting the coin
collector to a general purpose telephone set.

2.02 Refer to Fig. 2 through 7 for component
parts.

2.03 BAIl sets that do not contain a network and
ringer assembly, require the use of a 685A
subset.4

2.04 #For table top installation, a walnut or maple

wooden base (Fig. 1) is available. The base
contains a 625F jack which permits the use of a
D4BU mounting cord.

Fig. 1—#D-180574 Coin Decorator Telephone Set for
Table Top Installationd

NOTICE

Not for use or disclosure outside the

Bell System except under written agreement

Printed in U.S.A.

Page 1



SECTION 503-200-113

811216746
(P-12A674)
PLUNGER

6C-3 OR
6M-3
DIAL

G3AB-TYPE
HANDSET
WITH H4CJ
CORD

840696942
DUMMY
LOCK

811550110
(P=ISEOQII)
PULL BUCKET
ASSEMBLY

840696959
DUMMY
LOCK

IA-TYPE COIN
COLLECTOR DOOR

Fig. 2—D-180574 Coin Decorator Telephone Set Without
Mounting Facility

(a) If a subset is required with a table top
installation, use an 841385735 (walnut) or an

841385743 (maple) base. These bases contain a

dummy drawer for mounting the subset.

(b) If a subset is not required, use an 841385719
(walnut) or 841385727 (maple) base.4

2.05 For wall mounted sets that do not require

a subset, a 623P4 jack is provided on front
of hopper to permit the use of a D4BU mounting
cord (Fig. 6). Install a 174A backboard for this
type installation.

Page 2

2.06 For wall mounted sets that require a subset,

a 623P4 jack is provided on the subset to
permit the use of a D4BU mounting cord (Fig. 7).
Install a 144-type backboard for this type installation.

2.07 #All coins deposited will fall directly into
the cash compartment.4

#Markings

2.08 The 200-type markings have been removed

and D-180574 stamped in the same relative
location. The letters CS, which indicate customer
sales, has been stamped on the backplate adjacent
to the vault area.d

#Ordering Information
2.09 Set, Telephone, D-180574:

e Specify color; -03 (black), -51 (green), -60
(light beige), or as offered by the local
telephone company.

e Specify 144-type backboard, 174A backboard,
or wooden base when required.4

3. INSTALLATION

3.01 To install the set on a horizontal surface
such as a table or counter top, use a walnut

or maple base. (See 2.04.) The base sets on a

horizontal surface without any attachments.

3.02 To install the set on a wall, use a 144-type
or 174A backboard. (See 2.05 and 2.06.)

e Install backboard on a wall with top edge
63 inches from floor or at a height specified
by the customer

e Use hardware for securing backboard per
Table A.

3.03 Install set on backboard using a minimum
of seven 1/4-20 by 5/8 RH machine screws.

Remove handset from switchhook
before removing or replacing upper
housing to avoid damage to the gate
operating arm.



4. MAINTENANCE

ISS 2, SECTION 503-200-113

5.02 If a subscriber set is not used, refer to Fig.

9 or 11.4

4.01 Perform maintenance on the decorator set
in accordance with local procedures.

5. CONNECTIONS

5.01 If a subscriber set is used, refer to Fig. 8

or 10.

TABLE A

MOUNTING REQUIREMENTS FOR 144-TYPE OR 174A BACKBOARD

Tile, Metal Lath

FASTENERS
MTG HOLE SIZE
SURFACES REQUIRED MINIMUM
SIZE AND TYPE GUANTITY
) 1-3/4 in. No. 14 RH tapping or
poft Wood 1/8-in. wood screw
or
Hard Wood No. 30 1-1/4 in. No. 14 RH tapping or
wood screw 8
1/4-20 by 1-1/2 in. RH machine
Masonry* 1/2-in. screw in 1/4 by 1-1/4 in.
expansion shield
Plaster Board 1/8-in. 1-3/4 in. No. 14 RH tapping or
and Plaster or wood screw; secure in a stud a
on Lath{ No. 30 minimum of 1 inch >
Plaster on Cinder
Block, Hollow . 3/4-in. 1/4 by 4-inch RH toggle bolti

* When mounting on plastered masonry, install expansion shield below plastered
surface by amount equal to thickness of plaster and use 1/2-inch longer machine
screw than specified in Table.

T When mounting on plasterboard, plaster on lath, etc, fasteners must be located
in a stud and embedded at least 1 inch.

i When using toggle bolts, cut off excess length.

Page 3



SECTION 503-200-113

NO 10 X |=IN LG
SHEET METAL
SCREW

811617604
(P-16AT760)
HINGE
ASSEMBLY

812858066
(P-28EBO6)
NETWORK AND
BRACKET
ASSEMBLY

841385750
WOODEN
BLOCK

COIN
VANE

812952992

(P-29E299)

TERM. PLATE

ASSEMBLY

812953024
(P-29E302)
CONNECTOR
ASSEMBLY

Fig. 4—Partial View of Lower Housing

Fig. 3—Upper Housing With Gong Signal and Chute
Assembly Removed

Page 4



841385784
PLATE

TYPICAL
BELL

NO. 10-32 X 3 INCH
RHM SCREW

NO. 10-32 HEX NUT
AND TWO NO. 30-32
ELASTIC STOP NUTS

9-INCH
SASH CHAIN

Fig. 5—Decorator Set Showing D-180573 Kit of Parts
Installed

NO.4—-40 X |/4
MACHINE

AMP NO.
2-350045-9
TY-RAP

EQUIVALENT)

Fig. 6—®Modified Set Showing Mounting Cord and
Associated Hardwared

(OR APPROVED -

ISS 2, SECTION 503-200-113

NO.6-32 X 1/4 840401749
RHM SCREW BRACKET
AND NO. 6-32

HEX NUT

Fig. 7—W®685A Subset With 623P4 Jackd

Page 5



SECTION 503-200-113

$2SqNS YiIp aspg Jojoiodeq b Buisn jog suoydsja) Jojpiodeq ul0) p/S08L-Q 104 uowdsuuod§—g Big
\

ST

[¢)]
1
-~
-~
(8) (€)]
N
(1) (| ]
7
N WY
(A) (A)
o
m 7 (M) (19)
(M) D <
0402 9
wia s
[CD)]
\ !
! ; BT
18 @
7)) (%) O\ L@ Ty
A A | 15| N9 xea YAIY HLWX @
2
009 >
L] 13SONYH () L (A-¥8)
OWV08 i STNIHYIL SONIYdS . %078 %0078 TYNIHY3L Movr
wia } WNIWYIL B ¥0103NNOD BB w0193INNGD MOOHHIL IMS 13SONVH TNIKY3L 1358NS Y489 4629
\ /\ 7\
3U¥I4X0VE ONY ONISNOH ¥3M01 35¥8 HOLVH000

INISNOH ¥3ddn

‘0%
0L

Xawr
va29

Page 6



ISS 2, SECTION 503-200-113

piesqng ynoyjipy aspg Jojpiodaq P Buisn jag auoydsja] Jojpiodaq ulo) $/5081-A

o

JH0LS ANV 3LYINSNI SILWIIANT *

3Lvid

1o} suoipauuod§g—4 Biy

H3ON1Y

2

]
wwm
E
i
i
4
.\.w.”m
&
A "
(CYIES 4 =n)
Y b i
(¢ YA RR) :
Y N -
(0) 47 75(0) .
N fy g e
ST S onny /Wﬁ
(Ma) 7 7 () w@
. X A .‘_.‘_
7 e ) —<
> 2 ) 09
(o) M 2R () x.“ oL
i IS P
(n 7 S @ n
auvog &
TYNI WAL @w
e N . i
e diL i
(M)
, 080
WIg
O © 0 E
g ¥ gg] M . ¥ADY ULWX i
1 ) a7 i W\m
S 2 £ - Q09 .
da NO NO - LISONYH &m
o ; wole FE owovr £ Hovr
Wia E# ¥0LDINNOD HOLIINNOD NOOHHOLIMS B LISONVH S owimsy B g9 B V629
TN /

INISNOH H3ddn

JLY1dMIVE ONY ONISNOH ¥3MOT

3Syd ¥01v¥0230

Page 7



SECTION 503-200-113

piesqng o Buisn pajunoyy [P ‘19§ suoydeja] Jojpiodeq WI0) p/S081-Q 40 suondauuod§—oL Biy
f

t
N9 a8
L
e
B .
|
& Al
=
3
b
(s)
HHOMLIN v
-  uIoNIY
) w
i -
ars) 3
o (¥8)
5) 3
R 1] N vlg
(w8)
> >
e 0"
01
«— —
Ou
403 \.\ 1 -
e @ 19 2
/ —d
' :E\.D: i
@
(7] () ¥
& @
2
%
o) o (s) L (A-¥8) w
OuV08 i STYNIWEAL : NO0W TWNIWY3L S owr o owo Ry
wig WNIKHIL T H0103NNOD NOOHHOLIMS i B wdgze B0 nevo )
\ . =
ONISNOH ¥3ddN JIVIANOVE ONY ONISNOH ¥3Mo 1358nS vGe9

Page 8



ISS 2, SECTION 503-200-113

$iSSqNS D JNOYYIM PAJUNOW [|PM 43S suoydaja] Joypioda@ uio) p/S08L-A 103 suoydduuod¢—L| "By

HJOMLIN ’ 9 ﬁ

Qe
S
\w%
=

2

2
=

JHOLS ONY ILVINSNI S3LVIIONI =

31vid
YN W3 L

(¥8)

Y
-
"%
Fd
b
rd
> |
» (A
ayuvos
TYNIWE3L )
(A)
o
S| N9 x88
L2
N
wia HOLI3INNOD HOLIINNOD MOOHHIL IMS

YN WE3L w@ pdE29

MOVl

SN S

ONISNOH ¥3ddn

JIY4HIVE ONY ONISNOH Y¥3MOT

3svd H01vy023a

‘0
0

2
1

Page 9
9 Pages



